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Soit  a ∈R− π
2

+ kπ   k ∈Z 
 
 

 
 
 

Résoudre  l  ' équation  2sin x + 3
2 cos x +1

= tan a
 

 

  

 Soit  f  la  fonction  définie  par  la  relation  f (x) = 2sin x + 3
2cos x + 1

Alors  f ∈C∞ R − m
2π
3

+ 2kπ   k ∈Z  
 

  
 

 
   

  

De  plus  ∀x ∈R − m
2π
3

+ 2kπ   k ∈Z 
 
 

 
 
 

   

 f (x) =
sin x + sin

π
3

cos x + cos π
3

=
2sin 1

2
(x + π

3
) 

  
 
  cos 1

2
(x − π

3
) 

  
 
  

2 cos 1
2

(x + π
3

) 
  

 
  cos 1

2
(x − π

3
) 

  
 
  

= tan(x
2

+ π
6

)

 
 

  

Donc  : ∀x ∈R − m
2π
3

+ 2kπ   k ∈Z  
 

  
 

  f (x) = tana⇔ tan(x
2

+ π
6

) = tana

⇔ ∃k ∈Z  :  
x
2

+
π
6

= a + kπ ⇔ ∃k ∈Z  : x = 2a −
π
3

+ 2kπ

D  ' où

∀a∈R − π
2

+ kπ   k ∈Z 
 
 

 
 
 

   ∀x ∈R − m
2π
3

+ 2kπ   k ∈Z 
 
 

 
 
 

2sin x + 3
2 cos x +1

= tana⇔ ∃k ∈Z  : x = 2a −
π
3

+ 2kπ
 


